25.1.21

" L.O. |can add 3-digit numbers
- " using expanded addition




EXPANDED METHOD

(7 +7=1 4)

(30+40= 50)
(100 + 0 = 100)

So 137 + 47 =184 or 184



COLUMN METHOD

S0 137 +47 =184 or 184




EXPANDED METHOD
Example1l: 52+76

h

t
5

+
7

0
2
6
38

(2 +6 =8)

1 20 (50+70 = 120)
1 2 8

So: 52 +76 = 128




COLUMN METHOD

Example 1: 52 + 76

h

+

t o
5 2
1 7 6
1 2 8

S0 52 +76 = 128




Example 1: 52 + 76

We can round to the nearest
10 to estimate the answer:

50+ 80 =130

So we know our answer of 128
is a reasonable one.




EXPANDED METHOD
Example 2: 273 + 164

h t

5
1 6

(3 + 4

1|3 (70 + 60
30 (200 + 100
4 3

S0 273 +164 = 437




COLUMN METHOD

Example 2: 273 + 164

S0: 273|+164 = 437




Example 1: 273 + 164

This time we can round to
the nearest 100 to estimate
the answer:

300 + 200 = 500

So we know our answer of 437
is a reasonable one.




EXTRA MILD

14 + 10

16 + 4

24 + 10

8+ 12

12 + 12

SPICY

65 + 32

02 + 57

83 + 36

243 + 725

154 + 273

HOT

392 + 236

582 + 321

273 + 164

475 + 253

361 + 487




